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Albright, Winston, Zappe
Note: If you are using the updated version of the book that was published in Spring 2001 (identified by a sticker on the cover), then many of these errors have been fixed in your copy.
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1. (9/29/99) The data file for problem 76, page 71, should be the following: P2_76.xls 
1. (9/29/99) The data file for problem 83, page 72, should be the following: P2_83.xls 
1. (9/12/00) This is not really an error, but it's a problem you might run into. If you use any procedure of StatPro on the P2_8.xls file (for problem 8), the first step will "guess" that the data range is A3:M29. Evidently there is some hidden junk in row 29 and/or column M. If you accept this guess, you'll get an error message. The fix is simple. Don't accept the guess. Override it with the "correct" range A3:L28. Then it will work fine. The moral is that you should always take a look at StatPro's guess for the data range and override it now and then, if necessary.
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1. The data file for problem 37 was omitted from the CD-ROM. Here it is: P3_37.xls 
1. (1/25/01) In the middle of the paragraph following Figure 3.28 on page 104, change "more than $500" to "at least $500". In fact, the caption to Figure 3.28 should be "Checking for Amounts At Least $500".
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1. (9/6/00) Equation 4.15 on page 175 should have i<j, not i,j, under the second summation. The point is that will be a term of the form 2aiajCov(XiXj) for each pair of subscripts i and j. 
1. (9/7/01) The second line of problem 18 on page 144 should have 15%, not 10%. Otherwise, the probabilities in Table 4.2 wouldn't be correct.
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1. (9/29/99) The data file for problem 70, page 242, should be the following: P5_70.xls 
1. (7/18/01) The last formula on page 210 should begin as =MAX(NORMINV( instead of =MAX( . 
1. (9/25/01) We're currently writing the second edition of this book and discovered that the writeup of the BestFit section (page 236 on) is for an older version of BestFit than the version currently being shipped. See BestFit Update for the writeup that will go in the second edition. (This will be Chapter 6 in the second edition -- hence the numbering.)
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1. (6/2/99) In Table 6.29, page 316, switch the labels "Purchase Pump" and "Don't Purchase Pump". 
1. (5/13/99) In problem 78, page 318, the one occurrence of TSM should be TSB. 
1. (9/13/99) The label in cell A20 of Figure 6.33 is wrong (but the calculation and write-up are correct). It should appear as follows:

1. (9/13/99) The inputs in Example 6.6, page 297, don't match up with the numbers in Figure 6.38 or some of the numbers in the discussion of the solution. We suggest changing the example so that false positive rate is 3% and the false negative rate is 7%. (These are the values used in follow-up example, Example 6.7.) Then Figure 6.38 should appear as follows:

1. (1/30/01) On page 296, third line from bottom of #43, part (b) should have "the chance of a strike not occurring is 0.680/0.725" 
1. (3/28/01) The reference to Howard in the second paragraph of page 309 is the wrong reference. It should be "Decision Analysis: Practice and Promise", Management Science, Vol. 34, No. 6, pp. 679-695, June 1988 (still by Howard).
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1. (5/13/99) On page 356, in the 4th line of the 4th paragraph, change "the preceding chapter" to Chapter 5.
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1. (4/26/99) The percentage in part d of problem 20, page 395, should be 95%. 
1. (4/27/99) The third line from end of problem 29, page 415, should be "the four required"... 
1. (9/29/99) The data file for problems 69-72, page 429, should be the following: P8_69.xls
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1. (10/12/01) On page 449, third from last paragraph, the two mentions of TINV should instead be TDIST.
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1. (9/29/99) The data file for problem 25, page 534, should be the following: P10_25.xls 
1. (9/29/99) The data file for problem 49, page 547, should be the following: P10_49.xls 
1. (9/29/99) The data file for problem 55, page 548, should be the following: P10_55.xls 
1. (9/29/99) The data file for problem 56, page 548, should be the following: P10_56.xls
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1. (9/29/99) The data file for problem 43, page 620, should be the following: P11_43.xls 
1. (10/27/00) The equation for b on page 577 has the ratio reversed. It should be sy/sx.
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1. (5/19/99) On page 667, part (b) of problem 33, change "the set of qualitative variables" to "the qualitative variable". 
1. (9/29/99) The data file for problem 54, page 687, should be the following: P12_54.xls 
1. (9/29/99) The data file for problem 59, page 689, should be the following: P12_59.xls 
1. (9/29/99) The data file for problem 81, page 695, should be the following: P12_81.xls 
1. (10/01/99) The data file for case 12.2, page 698, should be the following: Dupree.xls. It contains data on 40 customers, not 67 as mentioned in the case. 
1. (10/01/99) The solution to problem 12.41 has an error in row 30 (for the new laptop being predicted). The dummy value for the DX chip type should be 1. (Note how space in the IF function produced the wrong answer.) 
1. (10/27/00) The second line on page 681 should have the square of 50, not 75. 
1. (2/9/01) Three of the formulas for Example 12.5, pages 680, 681, have minor errors. The long formulas starting =$H$6*... should have 49, not 48, as the factor of STDEV. Then the TINV formula toward the bottom of page 680 should have 48, not 73, degrees of freedom. 
1. (8/24/01) For Example 12.3 on page 645, the CATALOGS1.XLS file included in the CD-ROM contains only the first 250 observations, not the last 750 used for validation. (In fact, the original version of this file seems to have been lost!) Here is a replacement: Catalogs1.xls. It has the same first 250 observations as the example in the book (so that the screen shots are still correct), but the last 750 have been changed. With these, the last paragraph of the example on page 648 should state that the R-square and standard error for the validation set are now 71.8% and 522.25. 
1. (8/24/01) The solution to Example 12.5, pages 680-681, has an error in the standard errors of prediction. The following files contain a better explanation of the solution and the Excel solution itself: Example 12.5 Solution DADM.doc and Pharmex.xls.
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1. (6/28/99) In problem 14, page 723, the data go through July 20, not 21. 
1. (6/28/99) In problem 25, page 728, the reference should be to the file P13_25.xls 
1. (6/28/99) Problem 63 on page 760 needs to be restated, something like: "... when you employ Winters' method to handle seasonality in this time series? Explain. Which forecasting method do you prefer, Winters' method or a method used in problem 58? Defend your choice." 
1. (9/29/99) The data file for problem 15, page 723, should be the following: P13_15.xls 
1. (9/29/99) The data file for problem 71, page 767, should be the following: P13_71.xls 
1. (8/24/01) The smoothing constant mentioned in the last line of page 743 should be 0.1, not 0.2.
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1. (9/29/99) The data file for problem 40, page 867, should be the following: P15_40.xls 
1. (9/29/99) The data file for problem 44, page 868, should be the following: P15_44.xls 
1. (9/29/99) The data file for problem 48, page 867, should be the following: P15_48.xls 
1. (9/29/99) The data file for problem 67, page 880, should be the following: P15_67.xls 
1. (9/29/99) The data file for problem 70, page 880, should be the following: P15_70.xls 
1. (11/09/99) The second formula in step 6 on page 851 should be =LTLoan+M22
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1. (4/29/99) In problem 29, page 948, add to the 4th bulleted point that the unit price is $10 (this value is used in the solution). 
1. (6/28/99) Figure 16.33 on page 927 is the wrong figure. The correct one is shown below:

1. (9/29/99) The data file for problem 57, page 975, should be the following: P16_57.xls 
1. (10/09/99) The solution to problem 16.44, page 973, is not correct. It forgets to limit the production to the capacity. This is an easy fix, but the answer changes considerably. 
1. (1/3/01) On page 912, the formula after "and" (about 2/3 down the page) should be =B21*(1+B13).
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